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H 2 MATLAB [ & 174 plot
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3. LWAR

(1) SRMEZEZEA 0,0.2,0.4,0.6,0.8,1, 1.2 [F R EH;
(2) 724 18 NRENLEL (317 6 411D

(3) XA A% F(x)=0.45 , K x ;

(4) HEH X A0 RS R R Y

4, LWHR

(1) RKMERFEEEL 0,0.2,0.4,0.6,0.8,1, 1.2 [HIRE1H;
{5 FH unifpdf KR35 5] 43 A (1R 26 5% B (7] bR H5{E
(2) 774 18 MEALEL (34T 6 %D
{5 unifrnd 724235 5] 73 A T BE AL AR
(3) X ORI AKEL F(x)=0.45 , 3K x ;
8 unifinv A 35550 5340 (1 53 A BRI R
(4) X547 8 AN AT R AT
{8 unifpdf A1 unifedf A 35 50 73 A7 1 4 A7 % FE AN S0 A e BB, {6 plot I Hy



SuTAURE:

(1) REFEZEELE 0,0.2,0.4,0.6,0.8,1, 1.2 K EUHE;

>> P = unifpdf([0, 0.2, 0.4,0.6,0.8, 1, 1.2], -1, 1)

P=
0.5000 0.5000 0.5000 0.5000 0.5000 0.5000 0
(2) 774 18 AFEALEL (317 6 F1));
>> unifrnd(-1, 1, 3, 6)
ans =
0.6924 0.3443 0.3626 0.0056  -0.3908 0.3644
0.0503 0.6762  -0.2410 0.4189 -0.6207 -0.3945
-0.5947  -0.9607 0.6636  -0.1422 -0.6131 0.0833
(3) XA k%l F(x)=0.45 , 3K x ;
>> unifinv(0.45, -1, 1)
ans =
-0.1000
(4) mH X oA BN A R BEDE
>>X=-2:0.01:2;
>> f = unifpdf(X, -1, 1);
>> plot(X, f);
>> title("X~U(-1,1) i1 4345 5 T Y);
>> figure;
>> F = unifcdf(X, -1, 1);
>> plot(X, F);
>> title("X~U(-1,1) )43 A7 Bk BRI );
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{# H norminv & IEAS i ML R 0 A1 %

5. SCIGETE

>> norminv(0.99, 168, 7)

ans =

184.2844
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MATLAB 4

SKEAR

R ARSI AE R, AR A S o 10 Kk, 948
138 B 441 500(m/s), FRiEZE 1.10(m/s), FEMLIHEL 2 P08 5F84 20 K,

(R 13 318 496(m/s), FRAEZE 1.20(m/s), MRIEA P I FEAT 8 T B Mk
HIERMIES A0, B 2% . RE s mEEZ K EE/KT 0.95 KERE
X [a]

S 1A = 22
SN PSS

LN
n, = 10,7’12 = 20,[11 = 500,/12 = 496, g1 = 110, gy, = 1.20
/Ti}zﬁ tinv g t éj\ﬁ%%, ff%iuta/z

A H R 1S
s = (ny —1)-0f + (n, —1)-07
© nl +n2 — 2
FrsR X 6] 4
( )—ta-S 1+1 ( )+ ta-S 1+1
H1 — U2 % I3) o, Uy — U2 % ) o,
ISMUTSUR
>>nl=10;

>>n2 =20;




6+

>>mul = 500;

>> mu2 = 496;

>>sigmal = 1.10;

>> sigma2 = 1.20;

>>alpha=1-0.95;

>>t_alpha_2 =tinv(1 - alpha/2,nl1+n2-2);

>>S omega =sqgrt(((n1-1) *sigmal A2+ (n2-1) *sigma2~2)/(nl+n2-2));

>> fprintf('(%f,%f)\n', (mul - mu2) - t_alpha_2 *S_omega * sqrt(1 /nl1+1/n2), (mul - mu2)
+t_alpha_2 *S_omega * sqrt(1/nl1+1/n2));

(3.072746,4.927254)
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R HEIHAR ) Bk R XON(1,0.112A2), St A ERAT 7 okdk, Mt
BT 7 kK, S-S ERdE: 4.421,4.052,4.357,4.394,4.326,4.287, 4.683
W T 2GR EHRERN T Z 20 F HERASE? (] a=0.05)

Sy S

CLAl
a =0.050=0112,n=7
X =1[4.421 4.052 4357 4.394 4.326 4.287 4.683]
SR SR Hx s

LI

>> alpha = 0.05;

>>sigma =0.112;

>>X=1[4.421,4.052,4.357,4.394, 4.326, 4.287, 4.683];
>> n = length(X);

>> x_bar = mean(X);




>>s2 =var(X, 1);

>>chi2 =(n-1) *s2 /(sigma” 2)
>> k1 = chi2inv(1-alpha/2,n-1)
>> k2 = chi2inv(alpha/2,n-1)
chi2 =

14.3880

kl=

14.4494

k2 =

1.2373
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